

A binomial form for the sum of consecutive quantum integers

Boris A. Kupershmidt

The University of Tennessee Space Institute, Tullahoma, TN 37388, USA
 E-mail: bkupersh@utsi.edu

The classical formula stating that the sum of n consecutive numbers is equal to $(n + 1)$ choose n is quantized.

The classical formula $1 + 2 + \dots + n = \binom{n+1}{2}$ is quantized.

Set

$$[x]_q^\sim = \frac{q^x - q^{-x}}{q - q^{-1}}. \quad (1)$$

The quantized identity is then:

$$\sum_{i=0}^n [i]_q^\sim \frac{[2]_q^\sim}{[2]_q^\sim} = \left[\begin{matrix} n+1 \\ 2 \end{matrix} \right]_q^\sim, \quad n \in \mathbb{Z}_{>0}, \quad (2)$$

where

$$\left[\begin{matrix} n \\ 2 \end{matrix} \right]_q^\sim = \frac{[n]_q^\sim [n-1]_q^\sim}{[2]_q^\sim}.$$

For $n = 0, 1$, formula (2) is obviously true, because $\left[\begin{matrix} 2 \\ 2 \end{matrix} \right] = 1$. We next use induction on n ; formula (2) results from

$$[n+1]_q^\sim \frac{[2]_q^\sim}{[2]_q^\sim} \stackrel{?}{=} \frac{[n+1]_q^\sim}{[2]_q^\sim} ([n+2]_q^\sim - [n]_q^\sim),$$

which is true because

$$[x+2]_q^\sim - [x]_q^\sim = [2]_{q^{x+1}}^\sim. \quad (3)$$

The latter formula is true because, with $z = q - q^{-1}$, the LHS of (3) is:

$$\begin{aligned} & \frac{1}{z} [q^{x+2} - q^{-2-x} - q^x + q^{-x}] = \\ & = \frac{1}{z} [q^x (q^2 - 1) + q^{-x} (1 - q^2)] = \frac{1}{z} [q^x qz + q^{-x} q^{-1}z] \\ & = q^{x+1} + q^{-x-1} = [2]_{q^{x+1}}^\sim, \end{aligned}$$

because

$$[2]_q^\sim = \frac{q^2 - q^{-2}}{q - q^{-1}} = q + q^{-1}.$$